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Варианты индивидуальных заданий 
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1. tettf −= 2)(  1. Да 

2. tttf 2)( 2 +=  2. 
3

)1(2)(
p
ppF +=  

3. tchetshetf tt 222)( −=  3. 
4)1(

)1(2)( 2 −−
−=

p
ppF  

4. ∫=
t

dttttf
0

3sin)(  4. 22 )9(
6)(
+

=
p

pF  

5. )3()3(2)( −−= ttshtf η  5. 
4

2)( 2

3

−
=

−

p
epF

p
 

6. ∫ −=
t

t detf
0

4)(7)( τττ  6. 
)7(

!4)( 5 −
=

pp
pF  

 
7. 
 
 
  

7. )1(2)( 2

2
−+= −−

−
pp

p
epe

p
epF  

8. )7()7()( 2 −−= ttttf η  8. 
2

7

3

7 72)(
p
e

p
epF

pp −−
+=  

9. 
)3(

))3()3(2()(
3 −×

×−+−=
− te

tchttf
t η

 9. 
1)1(

)1(
)1(

2)( 2

3

2

3

−−
−

+
−

=
−−

p
ep

p
epF

pp
 

10. 
t

dttt
tf

t

∫ −
= 0

)cos(
)(  

10. 
22

1)(
2

π−+= parctg
p

pF  

  
11. 
 
 
 

11. 
)1(

2)(
42

224

p

ppp

ep
peeepF

−

−−−

−
+−=  

 f(t) 
2 

2      4      6     8 t 

t 

1  2  3 

-2 

f(t) 

0 



 61

12. ))sin1(()( 2 ′+= tttf  12. 32

3

2 )1(
26!2)(

+
−+=

p
pp

p
pF  

13. 
)5)(1(

3)( 2 ++
+=

pp
ppF  13. ttetf t sin

13
8cos

13
1

13
1)( 5 ++−= −  

14. ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

+−
−=

4)3(
)3(4)( 2p

p
dp
dpF  14. tettf t 2cos4)( 3−=  

15. 
)86(

4)( 22 +−
−=

ppp
pF  15. tt eettf 42

8
1

2
1

2
1

8
3)( −+−−=  

16. )(65 tfyyy =+′+′′ , где 

      

0)0()0(
,2,0

,21,2
10,1

)(

=′=

⎪
⎩

⎪
⎨

⎧

>
≤<−

≤≤−
=

yy
t

t
t

tf
 

16. 

)2(
3
2

)2()2(
3
1

)1(
3
1)1(

2
1

)1(
6
1

3
1

2
1

6
1)(

)2(3

)2(2

)1(3)1(2

32

−+

+−−−+

+−−−+

+−−−+−=

−−

−−

−−−−

−−

te

tet

tete

teety

t

t

tt

tt

η

ηη

ηη

η

17. 
4)0(,0)0(

696
−=′=

=+′−′′
xx

exxx t
 17. )

2
3(

2
3)( 3 +−= teetx tt  

18. 
2)0(0)0(

7cos749
=′=

=+′′
xx

txx
 18. tttx 7sin)

7
2

2
()( +=  

19. 

0)0()0(

222
3

2

==

⎪⎩

⎪
⎨
⎧

=++′

=−−′

yx
eyxy

eyxx
t

t

 19. 
tt

t

tt
t

eeety

eeetx

2
5

63
5)(

53
33

5)(

2
3

2
3

+−+−=

−++=
 

20. 
0)0()0(

ln2

=′=
=′′

xx
ttx  20. 332

3

108
19ln

18
5ln

6
)( ttttttx +−=  

 



 62

Вариант 10 
 

Условие Ответ 

1. 
2

sin)(
−

=
t

ttf  1. Нет 

2. ttf 2sin)( =  2. 
)4(

2)( 2 +
=

pp
pF  

3. tchetshetf tt 222)( −− +=  3. 
4)1(

42)( 2 −+
+=

p
ppF  

4. ∫=
t

dttttf
0

4sin)(  4. 22 )16(
8)(
+

=
p

pF  

5. )3()3(5)( −−= ttchtf η  5. 
25

)( 2

3

−
=

−

p
eppF

p
 

6. ∫ −=
t

t detf
0

3)(9)( τττ  6. 
)9(

!3)( 4 −
=

pp
pF  

 
7. 
 
 
  

7. )1(2)( 2

2
pp

p
pee

p
epF −−

−
−−=  

8. )6()15()( 2 −+−= ttttf η  8. )772()( 2
3

6
pp

p
epF

p
++=

−
 

9. 
[ ]

)1(

)1cos()22sin()(
1 −×

−+−=
− te

tttf
t η

 9. 
1)1(

)1(
4)1(

2)( 22 +−
−

+
+−

=
−−

p
ep

p
epF

pp
 

10. ∫=
t

dt
t

ttf
0

2sin)(  10. 
p

p
p

pF
4

ln
2
1)(

2 +
=  

  
11. 
 
 
 

11. 
)1(

21)(
32

32

p

pp

ep
peepF

−

−−

−
−−=  

 f(t) 
2 

2       4       6       8 t

t  1   2   3 

2 
f(t) 

0 



 63

12. ))22(()( ′+= tshtchttf  12. 22

2

)4(
)2()(

−
+=

p
pppF  

13. 
)1)(9(

32)( 2 −+
+=

pp
ppF  13. ttetf t 3sin

2
13cos

2
1

2
1)( +−=  

14. ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

++
+=

1)3(
)3(5)( 2p

p
dp
dpF  14. tettf t cos5)( 3−−=  

15. 2

8

)8)(6(
8)(

++
=

−

pp
epF

p
 15. 

(
) )8()8(2

2)(
)8(8

)8(8)8(6

−−−

−−=
−−

−−−−

tet

eetf
t

tt

η
 

16. )(16 tfyy =+′′ , где 

      

0)0()0(
,3,0

,32,2
20,2

)(

=′=

⎪
⎩

⎪
⎨

⎧

>
≤<−
≤≤

=

yy
t

t
t

tf
 

16. 

)3()3(4cos
8
1)3(

8
1

)2()2(4cos
4
1

)2(
4
14cos

8
1

8
1)(

−−−−+

+−−+

+−−−=

ttt

tt

ttty

ηη

η

η

 

17. 
3)0(,0)0(

2510 4

=′=
=+′+′′

xx
exxx t

 17. 
8181

913)(
4

55
t

tt eettetx ++−= −−  

18. 
1)0(0)0(

4
cos6

6
1

−=′=

=+′′

xx

txx
 18. 

4
sin)412()( tttx −=  

19. 

0)0()0(
33

2 2

==

⎪⎩

⎪
⎨
⎧

=−−′

=++′ −

yx
eyxy

eyxx
t

t

 19. 
ttt

ttt

eeety

eeetx

22

22

4
9

4
321)(

4
3

4
51)(

++−−=

−−+=

−

−

 

20. 
0)0()0(

)1ln( 2

=′=
+=′′

xx
tx  20. 

tarctgtt

ttttx

2)1ln(
2
1

2
3)1ln(

2
)(

2

22
2

++−

−−+=
 

 


